
INS. RTU
CURB

L4x4x5/16
4 SIDES

L3x3x1/4 AS REQ'D
TO FRAME DUCTS

L4x4x5/16" x 3" LG.
@ 4 CORNERS

℄ 
BE

AM
  O

R 
JO

IS
T

ONLY CUT DECK
OPNGS. AT DUCTS

GEN. CONTR. TO COORDINATE SIZE & LOCATION OF ALL MECHANICAL UNITS.

PROVIDE STEEL TUBE IN LIEU OF ANGLE BETWEEN DECK AND T/STEEL WHERE
CURB ALIGNS OVER BEAM OR JOIST GIRDER.
ATTACH RTU CURB TO SUPPORT STEEL PER TYPICAL DETAIL
PROVIDE LOAD STRUTS FOR JOISTS IF APPLICABLE. SEE DETAIL.

3/16"
TYP.

1/8"
TYP. (4)
CORNERS

CONCENTRATED
LOAD = P

CONCENTRATED
LOAD = P

L-1.5x1.5x3/16 EA. SIDE
FROM LOAD POINT TO
NEAREST PANEL POINT
OF OPPOSITE CHORD

X

X

NOTE:
REQUIRED WHEN P GREATER THAN 100 LBS.
AND X GREATER THAN 3 INCHES

1/8TYP.

1/2"
SETBACK

PL 1/4"x 3 1/2" x 9"
W/ (2) 1/2"Ø x 5"
WELD STUDS

#4x2'-0 LG. + HK @ 4'-0 o.c.
GROUT SOLID IN BLOCK
CORES

(2) #5 CONTINUOUS
LAP 2'-1" + HK AT
CORNERS

SEE PLANS FOR WALL
REINF. & CMU SIZE

STEEL JOIST & DECK  SEE PLAN

L5 x 3.5 x 5/16 CONT. (LLV)
5/8"Ø SLEEVE ANCHOR TO WALL
MIDWAY BETWEEN JOISTS- SEE ANGLE
CHORD SPLICE DTL 14 ON THIS SHEET

3/16" 1"
 TYP.

2"

ATTACH DECK TO L
@ 6" o.c.

CONTINUOUS
L5x3 1/2x5/16 LLV

SLEEVE ANCHOR HILTI HLC
HX 5/8"Ø x 6" @ 2'-8" o.c.
8" MAX. FROM ENDS OF L

SEE PLANS FOR WALL
REINF. & CMU SIZE

PROVIDE BOND BEAM
AT CONT. ANGLE

(2) #5 CONTINUOUS
LAP 2'-1" + HK AT
CORNERS

7 1/2"

2 1/2"

ERECTION BOLT COLUMN
JOISTS
TO JOIST GIRDER

(2) 3/4"Ø A325 BOLTS
EA. END EA. JST. GIRDER

EXTEND BOTTOM
CHORD OF ALL
COLUMN JOISTS

3/4" STABILIZER PL.
EA. END OF EACH
JOIST GIRDER

DO NOT WELD TO JOIST

3/4"CAP PL.

PER SJI

DO NOT WELD PL TO JOIST
GIRDER

PL 1/2x6x6 STABILIZER

BOND BEAM AT DECK SUPPORT L - STEP TO
FOLLOW ROOF SLOPE

L5x3 1/2 - SEE TYP. DETAIL

SEE PLANS FOR WALL REINF.
& CMU SIZE

L3x3x1/4 x 0'-6" LG. W/ (2) 1/2"Ø HILTI HLC
SLEEVE ANCHORS

STANDARD JOIST BRIDGING AT TOP &
BOTTOM CHORDS

X-BRACING WHERE
INDICATED ON PLAN

WELD L's AT
INTERSECTION

(2) #5 CONT. - LAP 2'-0" + HOOK AT CORNERS

JOIST GIRDER
SEE PLAN FOR
JOIST GIRDER SIZE

W8

(4) 3/4"Ø BOLTS

3/8" PLATE
WEB STIFFENER
EA. END & CTR.
N.S. & F.S. W8

SEE FOUNDATION PLAN

EXTEND JOIST GIRDER TO
EDGE OF W8 FLANGE

W8x18 x 2'-0 LG.
CTR'D 4" FROM
I.F. OF WALL

(2) 3/4"Ø A.B.
1'-4 LONG + 2" HK.
CTR. IN 12" WALL

GROUT SOLID 3'-4" MIN.
DOWN TO FTG.

℄

3/4
"

1/4
" L

EV
EL

'G
 P

L.
+ 

1/2
" N

ON
-S

HR
IN

K
GR

OU
T

7 1
/2"

2 1
/2"

5/16

JST. BRG. SEE
PLAN

ROOF DECK

ERECTION BOLTS
AS REQUIRED

3/4" CAP PL.

HSS COLUMN
SEE PLAN 3/4x6x6 STABILIZER

PL.
DO NOT WELD TO
JOIST GIRDER

C OF COLUMNL

5/16

5/16

1/4

1/4

1/4

L5x3.5 CONT.
DECK EDGE ANGLE
FIELD CUT FOR DECK

L5x3.5 LLV CONT.
DECK EDGE ANGLE

SPLICE PL 12"x3"x10" LG.
(AT ANGLE 5" OR 6" LEG TYP.)

SPLICE PL 12"x2"x10" LG.
(AT ANGLE 3" - 4" LEG TYP.)

SPLICE

1/4

ERECTION SEAT AND
GUIDES AS REQ'D

HSS BEAM

HSS COL.

1/4" T&B

1/4"

N.S.&F.S.
BEAM NARROWER
THAN COLUM

N.S.&F.S.
BEAM & COL.
EQUAL WIDTH

CONCENTRATED
LOAD = P

L-3x3x5/16 EA. SIDE FROM LOAD POINT TO
NEAREST PANEL POINT
OF OPPOSITE CHORD

X

1/4TYP.

NOTE:
REQUIRED WHEN P GREATER THAN 300 LBS.
AND X GREATER THAN 4 INCHES

PER SJI

12"2"
2"

GALVANIZED
3/8" BENT PLATE
CONNECT TO
OPENING HEAD

MASONRY PIER REINF. -
SEE PLAN & DTL 16/S2.0

ADJUSTABLE MASONRY
ANCHORS 24" o.c.
OR 1 1/2" x 1/4
BENT PLATE, 12" LG.

SEE
ARCH.

5/8"Ø HILTI KWIK BOLT EXPANSION
ANCHOR x 4" MIN. EMBED T&B @ 24"
O.C. MAX. INTO GROUTED MAS.

CONT. HSS2X1 T&B - SEE ARCH.

NOTES:
ALL WELDS TO BE AESS - SEE GENERAL NOTES
ALL EXTERIOR STEEL TO BE GALVANIZED

GALVINIZED CORRUGATED ROOF
PANELS. SEE ARCH.

STEEL TUBE RIBS @ 24" O.C.
MAX. - SEE ARCH.

TUBE _x_x__ x 6" LG.
MADE FROM BENT PL
TO FIT INS. HSS BEAM

(2) 1/2" Ø TH'D RODS
EMBEDDED 4 1/2" MIN. INTO
MAS. W/ HILTI HIT-HY 270 (1 PER CELL)

BEAM - SEE PLAN

5/16"

PL7x16x1/2

8" WALL

48 BAR DIA.
OR 24" MIN.

CORNER BARS TO MATCH
SIZE AND SPACING OF
HORIZONTAL BARS

MASONRY OPENING
SEE PLAN

FIN. FLOOR
ELEV. 0'-0"

CONTINUE HORIZ.
REINF. 24" PAST
EDGE OF OPENING

CONTROL JOINTS
TO BE A MIN. OF 24"
FROM OPENINGS-
SEE DETAIL 19/S2.0
& ARCH. FOR
LOCATIONS

BOND BEAM
AT JOIST BRG. EL.

VERTICAL WALL
REINFORCING ABOVE
OPENING - MATCH SIZE AND
SPACING OF TYPICAL WALL
REINF. SHOWN ON PLAN

BOTT. FTG.
SEE PLAN

VERTICAL MAS. PIER
REINF. TO
CONTINUE
THROUGH END OF
PRECAST LINTEL

JAMB PLATES MAY
OCCUR SEE DET. 18/S4.0
& ARCH. DWGS.

PRECAST CONCRETE LINTEL
- SEE PLAN FOR SIZE & DTL
16/S4.0 FOR ADDITIONAL
INFORMATION.   INSTALL
PER MFR. REQ.

MASONRY PIER
SEE PLAN & DTLS O N S2.0

PRECAST LINTEL - SEE
PLAN FOR SIZE &
INSTALL PER MFR. REQ.

#6 HOOKED BAR.
SPACING TO MATCH
WALL REINF.

MASONRY WALL &
REINF. - SEE PLAN

DE
PT

H

8 F 8 - 1B / 1T
WALL
THICKNESS (IN.)

LINTEL DEPTH (IN.)
NO. OF #5
BOTTOM BARS

NO. OF #5
TOP BARS

WALL
WIDTH

CAST-CRETE PRECAST CONCRETE
LINTEL DESIGNATION

BOTTOM BARS - EXTEND 24"
BEYOND OPENING

TOP BARS - EXTEND 24"
BEYOND OPENING

FULL DEPTH OF LINTEL TO BE
GROUTED SOLID

TOP PL 3/8"
(FY=50KSI)

3"

1.5 BA

DO NOT
WELD BA

HSS COLUMN
SEE PLAN

MOMENT FRAME
WF BEAM

B A
1/2

"
1/2

"

1/4 BA

BA

BA

PL
AT

E 
W

ID
TH

 T
O

MA
TC

H 
CO

LU
MN

 W
ID

TH
BOT. PL 3/8"
(FY=50KSI)

MOMENT FRAME
WF BEAM

1/4

PL
AT

E 
W

ID
TH

 T
O

MA
TC

H 
CO

LU
MN

 W
ID

TH

5"
3.5"

5/16
PL TO
HSS COL.

5/16
PL TO
HSS COL.HSS COLUMN

SEE PLAN

MOMENT FRAME
WF BEAM SEE PLAN

HSS COLUMN
SEE PLAN

3/8" SHEAR PLATE W/ (4) 3/4"Ø A325N BEARING
BOLTS

BOTTOM PLATE SEE DETAIL
23 ON THIS SHEET.

TOP PLATE SEE DETAIL 22
ON THIS SHEET.

1/2"
SETBACK(2) #5 CONTINUOUS

LAP 2'-1" + HK AT
CORNERS

SEE PLANS FOR WALL
REINF. & CMU SIZE

5 DETAIL
TYP. JOIST JOIST PARALLEL TO MASONRY WALL W/ GUTTER

L3x3x1/4 CONT. WELDED TO CONT.
PL 1/4" X6" W/ 1/2"Ø x 5" HEADED
STUDS @ 12 o.c.
SPLICE PER TYP. DET.

BOND BEAM AT
TOP OF WALL

#4x2'-0 LG. + HK @ 4'-0 o.c.
GROUT SOLID IN BLOCK
CORES

(2) 3/4" A.B. PER SIDE W/
12" MIN. EMBED

MASONRY OPENING
SEE ARCH.

STEEL JOISTS
AND DECK

NEW BEAM
SEE PLAN

T/STEEL

FINISH FLOOR

MASONRY PIER- SEE PLAN  & DTL 16/S2.0
FOR SIZE & REINF.

2'-0"

3/8" STIFFENER PL

UNISTRUT PIPE HANGER
SEE CATALOG FOR P/N

1-5/8" x 1 5/8" x 12 GA.
UNISTRUT @ 8 FT. o.c.

JOIST & DECK
SEE PLAN

(4) 3/4"Ø x 6"
HEADED STUDS

PL1/2x7x7

PL3/4x6x6

DECK EDGE ANGLE

DECK

GRILLAGE BEAM-
USE  W8X18 (5.25" FLANGE) FOR
8" WALL TYP.

BOND BEAM W/ (2) #5 CONT.

(2) 3/4"Ø A.B.

SEE PLANS FOR WALL
REINF. & CMU SIZE

8A DETAIL
TYPICAL JOIST GIRDER BEARING (NO PARAPET)

JST. GIRDER BRG.
SEE PLAN

PL1/2x7x7

PL3/4x6x6

CONT. BOND BEAM BELOW
JOIST GIRDER BEARING

GRILLAGE BEAM-
USE  W8X18 (5.25" FLANGE) FOR
8" WALL TYP.; SEE DTL 9/-

(2) 3/4"Ø A.B.

BOND BEAM W/ (2) #5 CONT.

SEE DTL 5/S4.0 FOR DECK EDGE
SUPPORT

JST. GIRDER BRG.
SEE PLAN

(4) 3/4"Ø x 6"
HEADED STUDS

DECK

SEE DTL 7/S4.0 FOR
BRIDGING SIM.

6 DETAIL
TYPICAL DECK EDGE SUPPORT ANGLE

4 DETAIL
TYPICAL JOIST BEARING AT MASONRY WALL

3 DETAIL
TYPICAL JOIST LOAD STRUT

1 DETAIL
TYPICAL RTU SUPPORT

7 DETAIL
TYPICAL JOIST PARALLEL TO MASONRY WALL

8 DETAIL
TYPICAL JOIST GIRDER BEARING

9 DETAIL
TYPICAL GRILLAGE BEAM AT JOIST GIRDER

10 DETAIL
TYPICAL COLUMN JOIST GIRDER

11 DETAIL
TYPICAL TIE JOIST

12 DETAIL
TYPICAL JOIST GIDER LOAD STRUT

13 DETAIL
TYPICAL PIPE SUPPORT

14 DETAIL
TYPICAL DECK EDGE ANGLE AND SPLICE

15 DETAIL
TYPICAL BOND BEAM CORNER REINFORCING

16 DETAIL
TYPICAL PRECAST CONCRETE LINTEL

17 DETAIL
TYPICAL PRECAST CONCRETE LINTEL IN MASONRY WALL

22 DETAIL
MOMENT FRAME TOP PLATE

21 DETAIL
MOMENT FRAME ELEVATION

20 DETAIL
BEAM OVER NEW OPENING IN MASONRY WALL

19 DETAIL
METAL AWNING

18 DETAIL
TYPICAL OVERHEAD DOOR JAMB

23 DETAIL
MOMENT FRAME BOTTOM PLATE

24 DETAIL
TYP. HSS BEAM TO HSS COLUMN CONNECTION

25 DETAIL
TYP. HSS BEAM TO MASONRY W/ POST-INSTALLED ANCHORS

GROUT WALL
SOLID @ CONNX.

RTU RAIL

SPACER BLOCK(S)

ROOF DECK

RTU RAIL

ALTERNATE ATTACHMENT

L3x3x16GA CLIP w/ (3) #10-16
SCREWS EA. LEG PROVIDE (2)
CLIPS PER CORNER (8) PER
UNIT

FLASHING, CANT STRIP &
MEMBRANE - SEE ARCH.

RTU CURB SEE MECH

RTU CURB SUPPORT SEE
TYPICAL DETAIL

1/2" Ø  BOLT, NUT, FW, LW (1)
REQ'D EA. HOLD DOWN OR
#12 SELF DRILLING SCREWS
(4) REQ'D EA. HOLD DOWN

16 GA. HOLD DOWN BRACKET
6" MIN. FROM CURB END
SPACED EVENLY - 2 BRACKET
MINIMUM ON EA SIDE(6) TEK SCREWS EA.

SIDE OF RTU MIN.

2 DETAIL
TYPICAL CURB ATTACHMENT

VERTICLIP SL
MANUFACTURED
BY "THE STEEL
NETWORK"
OR APPROVED
EQUAL.

VERT STEEL STUD & TRACK,
SEE PLANS FOR
SIZE AND SPACING

HILTI POWDER DRIVEN
FASTENERS - .145 dia.
SHANK & 1 3/8" dia.
WASHER AT 1'-4 MAX o.c.
4" MAX. FROM ENDS
OF RUNNER

3/4" MINIMUM GAP
AFTER DEAD LOAD
IS APPLIED TO BEAM

CHANNEL CLIP - BC600
MANUFACTURED BY:
"THE STEEL NETWORK"
OR APPROVED EQUAL
AT EACH STUD

STEEL BEAM - SEE
PLANS

PROVIDE 1 1/2" COLD
ROLLED CHANNEL WITHIN
12" OF DEFLECTION
TRACK

26 DETAIL
TYPICAL DEFLECTION CLIP INLINE W/ EXTERIOR STUD WALL

XXX

S4.0
FRAMING DETAILS

SCHEDULE I
SCHEDULE II

4-24-2025
-

Drawn By:

Project No.:

Design and construct ion  documents as
ins t rum en ts  o f  se r v ices  a re  g iven  in
confidence and remain the property of Onyx
Creative. The use of this design and these
construction documents for purposes other
than the specific project named herein is
strictly prohibited without expressed written
c o n s e n t  o f  O n y x  C r e a t i v e .

Date Issue

25
00

1 
Em

er
y 

R
oa

d,
 S

ui
te

 4
00

C
le

ve
la

nd
, O

hi
o 

44
12

8
21

6.
22

3.
32

00
 o

ny
xc

re
at

iv
e.

co
m

FL
. L

IC
. A

R
10

39
17

SW
 C

O
U

N
TY

 R
O

AD
 2

42
A 

& 
SW

 C
H

AD
 P

LA
C

E
LA

KE
 C

IT
Y 

SO
U

TH
, F

L

24.0808

4-24-2025 Bid & Permit

PR
O

PO
SE

D
 N

EW

TR
AC

TO
R

 S
U

PP
LY

04/25/2025

Terry S Francis
Digitally signed by Terry S Francis
DN: CN=Terry S Francis, 
dnQualifier=A01410D000001900D3277C800006BF4, 
O=Unaffiliated, C=US
Reason: I am the author of this document.
Date: 2025.04.25 09:35:32-04'00'

tcrews
New Stamp


	Sheets and Views
	600_TSC_Lake City South_FL_S-S4.0


